No3 2RE¥ (V3 2&BK -8B/

50. f(x) =2x2—4x—3 TH 3 L %, Xofizke X,
(1) f(-2) @ f(1-v2) 3) fRa-1) @ f(f@)

51. ROBIBDfEEZ KD X, £, &AMHE - m/IMED HNITKD K,
() y=-2x+3 (-1=x<2) 2 y=x* (-25x=1)
B y=r (1<x=2)

52, y=ax+b (-1=x=2) OffiEr2sy=6 TH2LE, T8 a,b DEZKD X,

53. XM D 75 7 2T,
(1) y=12x—4| 2 y=Ix+1]+2|x -2

54. y=||Ixl - 1| - 2| 777 %,

55. XoAEX%E 77 7 %R L TR,
(D 2x—4] <x+1 2 2lx+1—-|x—-2|>x+2

56. N Ix+1|—-|x=2|=x+a DEOEEE KD X,

57.x xBA L VWIRKDOBHE Z[x] L KT, 3sx=3 DL &, RDT 77 %H#T,
3
)

(4) y=x—[x] () y = x[x] © y=[K*] (-2=5x=2)

IIA

(1) y =[] ) y =[-x] 3) y = [2x] (—g <x

58. RX® 2 KA ZFIjsEi &,

(1) x> +6x+9 (2) x> +8x + 15 3) x2—3x—-1
(4) 2x% + 4x + 1 (5) 4x% — 20x + 25 (6) sx —Tx -2

59. XD 2 RXEBD 77 7 %iiT, £/, WhETHAZ KD X,
() y=2x2+4x—1 (2)y=_xz+§x+§
3)y=2x*-1 @ y=@x+1D2-x



60. (1) Bty = 2x% — x + 3% x W71, yfil /7 A1 -2 AT E) L 7= it o 77 %

ke X,

() x BUTHIC2, yll IS =3 FTREEI T 2 L IRty = 3x2 —Sx + 11Cf8 % X 9 Al
Vit o % ko X,

(3) By = —x% + 4x — 1, IRy = —x? —2x + 5% LD X S ITHTHEIL - d D
2o

61. (1) By = 3x% + 5x — 1% x Wil , y #ih , JRR D Z L Z B L TS E) L 72 it
DR ERD X,
() & 2R % x WIS =2,y ANC 3 SEATREEN L 7288, BB L CORRfsEh 4
5L, BWIfky = —2x% + 4x + 1T 72 5 72, JTCOPIRR DO R %KD X,

62. Wtky = 2x* —4x + 3% Eifx = -1, 583, -1z NZ NI L TRHFZE) L 72 /K
Yk o A% kO X,

63. RDOBABUC I AME - F/IMED & KD K,
(D y=x*—4x+1 2 y=-2x*+4x+3 (0=x=3)

_1 - _3 < =—3x2432 Z (-3s
B y=sx"+x—5 (0=x<2) @ y=—gx"+ox+- (sz

lIA
NG

)

64. a ZEELL L., 2 K&y = x? —(a+4)x+§a2+§a+§ Di/MEZ m &35,
(Hhm % a DX TEH,
Q) a DB m DRKfEE D & ED g D% KD X,

65. Bi%if(x) =x? —3x+a (0=Sx=4) ORKENRS LH DL ICEH a DIEZED X,
/2, 2Dl ZOR/MEZ KD X,

66. BA%if(x) =ax? —4ax+b (1= x =5) DRAMEL 4, RAMEN 1 &7 2 X 5 ITEK
Cl,b @{ﬁ%i&b J:o

67. Ba%f(x) =x* —2(a+Dx+4a+1 (1=sx=3) ICHWVT
(1) TAMEM () & T&/MEm(a) % KD X,
Q) b=M@@)tb=m(@)D7 7 7 %[F—D ab ¥ EICKRE X,
B) M@ -—m(a) =4, %7220l bLEDqaDfizRD X,



68. a>10¢ %, BIlf(x) =x*—4x+5 (1=x=a) IKBWVT
(1) &KRMEM (a) & T&/MEm(a) % KD K,
Q) b=M(@)tb=m(@)D 7 7 7 %[E—D ab ¥ LICKRE &,

69. BIEf(x) =x> —4x+5 (a=x=a+2) ICBVT
(1) &KMEM (a) & Fe/MEm(a) Z KD K,
Q) b=M@tb=m(@)® 77 7 %[[—D ab ¥ EICKRE X,

70. (1) By = x* + 2x% + 30 R/IMEZ KD X,
Q) By =x+D+2)x+4)x+5) (-4=x=-DOEAKHE-R/NMEEZDEED
x DfE%ERD X,

71. () x =2y =10 & &, x? + 4y?DR/MEZ Ko X,
Q) 3x+y=2,x20,y2 00 & %, 2x? —xy — y? DKM & F/IMEZ KD X,
(B) x2+2y2—x =00t &, x+y?0RKfl & R/IMEE K X,

72. () x* +2x+y? — 4y + 1OR/MEZ KD X,
(2 1=Sx=3,-1Sy=40t &, x2 +2x+y? — 4y + 1ORKfE & R/IMEZ K X,
(3) x% 4+ 2xy +2y% + 4x — 2y + 1OR/IMEZ KD X,

73. BAEf(x) =x> +1,9(x) = —x? +4x + all DT, ROEH %72 X 9 R ER a DE
DHEIFH % K X,
(1) —1SxS10FTRTOEHx I LT, fx) <g®)
(2 —1=SxS1D0H2EBx I LT, flx) < gx)
(3) —1=Sx S 10T XTOEKDMHx, , 2, 10 LTy fxy) < g(xy)
4 —1=Sx=1D05H 25 DEHDMMx, , 6, 1T LT, fxy) < g(xz)



